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Do not open the booklet unless you are

asked to do so.
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OMR Answer-Sheet
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contains 60 questions.

questions in the
more than 50 questions are attempted by

then the first attempted 50
questions will be considered for evaluation.

student,

All questions carry equal marks.

Examine the Booklet and the OMR Answer-
Sheet very carefully before you proceed.
Faulty question booklet due to missing or
duplicate pages/questions or having any
should be got

other  discrepancy

immediately replaced.

(Remaining instructions on the last page)

Questions Booklet
Series

B

[ Maximum Marks : 100

qRleieal & forg e :

1. WRA-YRI® & T4 T6 | Giel 9 6 AT Hel
Y|

2. UEE-gRAHT H 60 W &1 Wi @l fdeE

50 Ul @ &ad 4 T3 OMR 3T=R-3E W &
g BT &, WeA-YRadT W | Ife BT gN
50 ¥ G U B g fhar Sl © RS
gl fhd gU 50 STRI 6l & eI gq Aiferd
e TG | WY Ul @ i WA g |

U & IR Sfhd H W Q@ URA-GRABT T
OMR 3T=R-¥e BT IS < of | gl
UeI-gRA®T T4 8 W BUH | BE Y @l Al
TS Uh W IfE IR BU Y B AT S fHAl
I YHR B A &, A SN R 98 o |

(@ frder a1 U W)



(Only for Rough Work)



RA # 31 3G SIRd WY § -
(A) TSE

(B) SR U™

C) fEr

(D) e

DF-H Well H Rl FT AT A R
ST 8 7

(A) TR T 3T

(B) 3 U4 el

(C) &R Td FIaT

(D) 3%e U9 g

ARG TD Dol H G G IR @

(A) ST Mg
(B) IgMveHIe
(C) Ta¥Md

(D) elgel Wi

ddl H§ Wdll @B Gedl [Gdal FH B
HRYT BT & ?
(A) IRE
(B) HTIRRM
() feer
(D) TregTer

AG-406

(3)

Largest guava producing state in India is :
(A) Punjab

(B) Uttar Pradesh

(C) Bihar

(D) Karnataka

Which fruit is the good source of

iron ?

(A) Pear and Peach

(B) Mango and Banana
(C) Date and Karonda

(D) Guava and Papaya

Aroma of overripe banana is due to :
(A) Diallyl propyl
(B) Isopentanol

(C) Hexanal

(D) Allyl propyl

Fruit cracking in Litchi is due to

deficiency of :
(A) Boron

(B) Magnesium
(C) Calcium

(D) Nitrogen
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Viviparus is observed in :

(A) Avocado
(B) Cocoa
(C) Jackfruit

(D) None of the above

Kniffin system of training in grape was
developed by Mr. William Kniffin in :

(A) Rome
(B) New York (U.S. A)
(C) India

(D) France

Which of the following grape varieties is

not a can pruned ?

(A) Anab-e-Shahi
(B) Thompson Seedless
(C) Pusa Seedless

(D) Beauty Seedless

Kishmish Belly is a variety of :

(A) Apple

(B) Grape

(C) Pear

(D) Peach
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10.

11.

12.

The
accommodates 15% more plants than

planting system which

square system is :

(A) Rectangular system
(B) Hexagonal system

(©)
(D) Contour system

Filler system

IAA was discovered by a Dutch scientist
in 1934 :

(A) Muller

(B) Frist Went

(C) Nelson

(D) None of the above
‘Amrit Sagar’ is a variety of :
(A) Mango

(B) Banana

(C) Papaya

(D) Guava

Most commercial method of propagation

of mango in western U. P. is :
(A) Stooling

(B) Inarching
(C) Layering

(D) Veneer grafting
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13. <Y &7 99 ESKE| fradl o & PRI 13. Litchi leaf scorching is associated with

Ep deficiency of :

(A) TG (A) N

(B) HIHRA (B) P

(C) fesrd (C) Ca

(D) eRr D) K

14, Pl & GUFIRG T Bl Bed & 14.  Modified stem of banana is called

(A) TAIR TR (A) Sword sucker

(B) VoI (B) Rhizome

(C) el JHTHENI (C) Water sucker

(D) ®M (D) Corm

15. g1 WIg & Ui WEed |4 $ HoAg< 15. Wooly Aphid resistant rootstock of

3. appleis:
(A) TH-27 (A) M-27
(B) TH-16 (B) M-16
(C) THI (A) T@ (A) (C) Both (A) and (B)
(D) SUYa H A Bl 7l (D) None of the above

AG-406 (6) Set-B



16. 99 @7 3T dF1 HAg ® 16.  Ultradwarf rootstock of apple is :

(A) UH-27 (A) M-27
(B) TH-16 (B) M-16
(C) e (C) Robusta
(D) TH-9 (D) M-9

17. W & 9 & WA & U sFderad  17. Optimum  temperature  for  the

stratification of apple seed is :

Ao &

(A) 8°C (A) 8°C

(B) o0°C (B) 0°C

(C) 10°C (C) 10°C

(D) 4°C (D) 4°C

18. YU &l I9Iferll foed © 18.  Hermaphrodite variety of papaya is :

(A) e (A) Solo

(B) BRINCI-1 (B) Co-1

(OB GIRSEINDS (C) Pusa Delicious

(D) BIRC-2 (D) Co-2

AG-406 (7) Set-B
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19.

20.

21.

Which of the following is the non-

climacteric fruit ?

(A) Litchi
(B) Mango
(C) Apple

(D) Banana

Arkavati is seedless grape hybrid
developed at IIHR, Bangalore is a cross

between :

(A) Bangalore Blue and Anab-e-Shahi

(B) Black Champa and Thompson

Seedless

(©)

Bangalore Blue and Black Champa

(D) Anab-e-Shahi and Black Champa

The pigment responsible for coloration in

papaya is :

(A) Chlorophyll
(B) Caricaxanthin
(C) Anthocyanin

(D) None of the above
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22.

23.

24,

The position of India in the world banana

production is :

(A) 1st

(B) 4th

(C) 2nd

(D) 3rd

Powdery mildew of grape can easily be

controlled by :

(A) Sulfex

(B) Benomyl

(C) Bavistin

(D) None of the above

Mango variety resistant to mango

malformation :

(A) Bhodharan

(B) Bombay green
Deshehari

(©)

(D)

Langra

Set-B



25. &9 %ol # a9 &1 Wgg 9 A W 25, Which fruit is the rich source of fat ?

g 7?

(A) <™ (A) Almond
(B) 3™ (B) Mango
(C) @I (C) Cashewnut
(D) ¥RIE (D) Walnut

26. g B #§ WSH &7 Wid SASG U 26. Which fruit is the highest source of

I B protein ?

(A) IR (A) Walnut
(B) ol (B) Banana
(C) @ (C) Cashewnut
(D) de™ (D) Almond

27. WATHN ¥ W BN B AR D 27. The transfer of pollengrain from anther to

e a5 qgil‘rﬂ FEaTar L - stigma of the pislil is known as :
(A) WRITOT (A) Pollination

(B) WNd (B) Pollinator

(C) W« (C) Pollinizer

(D) SUYa H A Bl 7l (D) None of the above

AG-406 (10) Set-B
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30.

g, . T AR 7 9fd @fdd gfifed Bl

& STANT B SR @ 2 :

(A) 80g
(B) 120¢
(C) 280g

(D) 300¢

AT BT @RI S arell 91 §

(A) N
(B) R
C) TR

(D)  gre

oder wadl @ I
g

(A) M

(B) T

(C) el

(D) TS

AG-406

Dedldl

(11)

28.

29.

30.

ICMR recommends the use of fruit per

capita per day is :

(A) 80g
(B) 1209
(C) 280g

(D) 3009

The edible part of Litchi is :

(A) Pericarp

(B) Kernel

(C) Avil

(D) Thalamus

‘King of temperate fruits’ is called :

(A) Mango

(B) Apple
Banana

(©)

Peach

(D)

Set-B
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31.

32.

33.

34.

In  which layering  method of

propagation ‘sphagnum moss’ grass is

used ?

(A) Tip layering
(B) Mound layering
(C) Air layering

(D) Trench layering

Banana is commercially propagated by :
(A) Corm

(B) Suckers

(C) Rhizome

(D) Tuber

Ring budding method of propagation is
applied in :

(A) Ber

(B) Peach

(C) Mulberry

(D) All of the above

Vitamin C content is highest in this
fruit :

(A) Citrus

(B) Aonla

(C) Barbados cherry

(D) Guava

Set-B



35. T8 9 PIF-GT Tdh §Ioual © ? 35.  Which one is monocot ?

(A) BeEd (A) Jackfruit
(B) WuR (B) Date palm
(C) 9™ (C) Mango
(D) T (D) Apple

36, Deig U IRTAH G hal W Red 36. Central Institute  of  Subtropical

27 Horticulture (CISH) is located at :
(A) IRV (A) Varanasi
(B) @MY (B) Kanpur
(C) <UTH (C) Lucknow
(D) feeh (D) Delhi
37. ‘SfeyF BIdody’ UFdT BIF USRI 37. The journal ‘Indian Horticulture’ is
TGRS, published by :
(A) A T 31, AR, (A) CSIR
(B) 3Ts. 3. T. 31X, (B) ICAR
(C) 38, T. 3R, IS, (C) IARI
(D) 3T, 37E. T4, 3R, (D) IIHR
38. &R W I g $I SUYH FHY & 38. Best time of budding in ber is :
(A) TITS-3NR (A) July-August
(B) RicrR-aracer (B) September-October
(C) Hg-S (C) May-June
(D) WRA-AT (D) February-March

AG-406 (13) Set-B
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39.

40.

41.

42.

IIHR is located at :

(A) Kerala
(B) Karnataka
(C) Uttar Pradesh

(D) West Bengal

Fruit crop suitable for high soil pH is :

(A) Aonla
(B) Ber
(C) Guava

(D) Pomegranate

Largest fruit producing state of India is :

(A) Maharashtra
(B) A.P.
(C) Gujarat
(D) U.P.

Growth regulator commercially used for

control for fruit drop in citrus :

(A) NAA

(B) 2,4-D
(C) IBA

(D) IAA

Set-B



43.

44,

45,
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39 BT Hel U 38T FId 2 43.

(A) fder™® v @t
(B) fdeIfa= <t @
(C) NIEdIwelfdT 1
(D) Ufdes @

T & T gaelR & forv fba I i 44,

R B FIRHAT Bl & ?

(A) 100—150 T

(B) 250—300 T

(C) 50—100 T

(D) 350—500 9T

O’ TG ‘B GO & - 45.

(A) R @
(B) 3ifdet &l
(C) 3T @l

(D) TeOTC I

(15)

Mango fruit is a good source of :

(A) Vitamin A

(B) VitaminC

(C) Riboflavin

(D) Pectin

How much requirement of seed rate of

papaya for one hectare ?

(A) 100-150 gram

(B) 250-300 gram

(C) 50-100 gram

(D) 350-500 gram

‘Krishna’ and ‘Kanchan’ are the varieties

of :

(A) Grape

(B) Aonla

(C) Guava

(D) Pear

Set-B



46. ‘fdmeay’ I B Seufy fbwt WO W gE 46, The term ‘Horticulture” is derived from :
g?

(A) dfed (A) Latin
®) @ (B) Greek
(C) R (C) Persian
(D) 3USil (D) English
47. IFORISETI AT TR daf Rrd g ? 47. International Institute of Horticulture is
situated at :
NBEISIE (A) Brazil
(B) scell (B) Italy
C) I W.T (C) U.S.A.
(D) SUYd H H I el (D) None of the above
48. T ¥ IORG YRV few faff § 48 Commercial method of propagation in
ERIRSIGIR Guava Is :
(A) I (A) Inarching
(B) ¥fem (B) Stooling
©) T (C) Air layering
(D) SUYa H H I Tl (D) None of the above
49. UM fdee I ST T 8 49. Panama wilt is fungal disease of :
(A) 3Tg T (A) Peach
(B) T BT (B) Pear
(C) 9 @I (C) Apple
(D) Tl @I (D) Banana

AG-406 (16) Set-B



50. fd5g @& f&9 < # Bo SR FIQ 50. Which country is the largest producer of

3 gar & ? fruits in the world ?
(A) ¥Rd (A) India
(B) ™ (B) China
€ WU (C) U.S.A
O)REISIE (D) Brazil
51. WRJ B ST Bl -1 8 2 51.  Which is the National fruit of India ?
(A) M (A) Mango
(B) Uuldm (B) Papaya
(C) Dl (C) Banana
(D) SUYw H H IS el (D) None of the above
52.  HIF-AT T AT Bl -2l & 2 52.  Which one is not a temperate fruit ?
(A) LSE| (A) Apple
(B) dIs (B) Peach
(C) I~ (C) Pineapple
(D) TeraTH (D) Pear
53. fOINT U aRIRe AT § 53. Tristeza is a viral disease of :
(A) JF™T 0 (A) Guava
(B) S3MH &1 (B) Mango
(C) Tz (C) Citrus
(D) 3R & (D) Grapes

AG-406 (17) Set-B



54. Rrcifed dEES] @& 0 Uar oF 54. Who is the father of Systematic

57 Pomology ?

(A) eI (A) Darwin
(B) T BIerd (B) De Candolle
(C) wHed (C) Mendel
(D) oH (D) Lamarck

55. Ui @ fbd fow ¥ weq Afde gua 55. The maximum papain yielding papaya

WPJTGHTIT%\*? variety is :
(A) BIRR-2 (A) Co-2
(B) IIIRCI-5 (B) Co-5
(C) DIIHR-6 (C) Co-6
(D) BIRIRR-3 (D) Co-3

56. M @ Swd FEd ANEMl 8] SUYH 56. Suitable variety of mango for high

fre & density orcharding is :
(A) I (A) Deshehari
(B) S (B) Amrapali
(C) fcerd (C) Mallika
(D) e (D) Neelam

AG-406 (18) Set-B
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57.

59.

Polyembryonie variety of mango is :

(A) Chandrakaran
(B) Ratna
(C) Mallika

(D) Neelam

Kagzi lime is the best indicator for :

(A) Leaf curl
(B) Tristeza
(C) Xyloporosis

(D) Exocortis

Lalit is improved cultivar of :

(A) Guava
(B) Ber
(C) Apple

(D) Papaya

Serious pest in Apple orchard is :

(A) Caterpillar

(B) Wooly Aphids

(C) Sanjose scale

(D) Thrips

Set-B



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.
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